57.85468

FEy=1063.11#

25.71409

FEx= 2870.73#

e —— "

fe———19.8B800 —————— ™

FCy=1975.27#

j
=2 20499

FCx= 2466.32#

FDy= 3496.46#

DELECTION OF A BEAM

F= FORCE AT A GIVIEN POINT

L=LENGTH OF BEAM

E= ELASTIC MODULUS

= MOMENT OF INERA OF THE PARTICULAR SECTION
a= LENGTH FROM REACTION PQINT TO FORCE
y=DEFORMATION

s - 302 + o¥)=y

550000 g5 +(2#25.714170 — 3%25.71417%57.85472 + 25.71413)

.000000967200* (—207200")=yc= 0.200404" @ POINT D

s - 3a2 + o¥)=y

—1975.074

S 30000000b 4 s (2*57.8547™ — 3*25.71417%57.85472 + 25.7141%)

00000294965 * (146093.0")=y:=0.430924" @ POINT C

e
3eT =Y
1213.074 * 25.7141% _ _ 0 341787@ POINT B
3*30000000PSI*.9049™ °~

YotyctYs=Yrora
0.200404 — 0.430924 + 0.341787 = 111

FDy=1825.31#

19.25812

FBy=1213.074 @



